H & 0l & AHS B Ml A

20243 =0llah LB &LXHAH 01 LA X 12

SA ATHA 0L KT 2
3 NGIHEdabgtxd
Ch2: ATHA I X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AUTH-4 011 LA X1 1k 6,182,957 10,303,249 N4,120,292
= 240,000
= 5,942,957
NS HEdaletxd 5,451,821 9,836,649 N4,384,828
== 240,000
[Ea 5,211,821
ATHA I K 3,429,785 2,563,569 866,216
< 240,000
s 3,189,785
A& 01l LA X 113,136 14,040 99,096
201 er23 | 82,456 5,640 76,816
01 At2teltl 79,45 4,440 75,016
NATHMOILR AIRES 7l
90,0003 x 122 1,080
NATHENUA HR =& HAH
8,0002x8 +543] 3,456
NExI| S itz 110,000« 12& 1,320
DATHEMUR HLAS X HZ
8,000,000& 8,000
1AITHA I XICHR G E 2l M=
50,000,000& 50,000
NS g2 MN&E ¥ 25+7Y
3,600,0002 3,600
NE Bols 2Y4Y
100,000& x20E 63! 12,000
02 S3=gl 3,000 1,200 1,800
NRERS 150,000& 122 1,800
NATHMOIL R =& SE2ALSE S
=L 100,000& «12& 1,200
202 04l 25,680 8,400 17,280
01 2LHoIH 25,680 8,400 17,280
NATHANL X HRFE ZLH0AYI
60,0002 x8& +513] 24,480
DA SSEF Z2E 200l
60,0002 18 »203] 1,200
203 =] 5,000 5,000
03 A=A 2= 5,000 5,000
NATHAEAMU R AIMHR =X
5,000,000& 5,000
ATHAENUXES 8= (20HAE) 1,617,649 2,473,187 855,538
= 240,000
Ea 1,377,649
403 AXIEHMSA=0ld 1,617,649 2,473,187 855,538
S 240,000
o 1,377,649
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AURH 28 Off LA KT
ASEMgdsb|gxd

2l AITHA I X (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2712S0 e H=H 2 E AL 1,617,649 2,473,187 855,538
NATHANL X =& XA
1,617,649,000& 1,617,649
= 240,000
Ea 1,377,649
A1XH28 Off LA KT XH 2 250,000 0 250,000
306 EH= 250,000 250,000
01 £g= 250,000 250,000
1Nl ATHAEUUHXIHE EHZ
250,000,000 250,000
SERASHM 5,000 5,000
201 er23 | 5,000 5,000
2 35234l 5,000 5,000
NRERASS LAY 5,000,000& 5,000
AITH A Ol L X Z 2o 20,000 20,000
207 ARl 20,000 20,000
01 S| 20,000 20,000
NATHMOIL XSS 22 HE -8 H=E8N
20,000,000& 20,000
XS0 RIAE (2X) 124,000 0 124,000
308 XXM SOIA 124,000 124,000
13 SIS0t 4 A AS A 124,000 124,000
1) X< 0l A KT T E AL X2
124,000,000 124,000
LHAFHANS AR 2 F0=R 1,300,000 0 1,300,000
401 AIEHIX R0 1,300,000 0 1,300,000
01 A28l 1,300,000 0 1,300,000
NoHaE ARDLFRI=SRAIY
1,300,000,000& 1,300,000
OlcHOlILA X 2,006,604 4,697,000 A2,690,3%
OlcHOILA X 12,804 0 12,804
201 =3 4,164 0 4,164
01 At2t2lt] 4,164 0 4,164
NOIKUIUX A5 = L 2|
100,000 x10E 2] 2,000
NOIAAUA PRFE ARES 7Y
50,0002 123 600
1OIHOIX] FRFE OHA
8,0002 28 543 864
NAEESMHMIURIAIY EXI XtE
700,000 700
202 04t 8,640 8,640
01 =LHOHI 8,640 8,640
1)DIHOIHX ZR=E SLHOI
60,0008 x2& »723] 8,640
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ASEMgdsb|gxd

&2l OIHUIE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAUHLNARHE(2IHEE) 1,993,800 3,397,000 A1,403,200

201 er23 | 289,000 292,000 23,000
01 At2teltl 239,000 242,000 A3,000
NEMTOILAEL ADE L MRS IHER
] 30,000,000 #5012 150,000
NEARIIEAA &I| AEHE =8
10,000,000 #5744 50,000
NEMRIIEAE A SXZE U SHET] X
& 1,500,000& «26& 39,000
2 s5=34l 50,000 50,000 0
NENMTOIEAA 2H g A 8]
] 10,000,000 *59H 2= 50,000
202 04| 4,800 5,000 A200
01 2K 4,800 5,000 A200
NEMRDIEA A 2E ANSHE S0
60,0002 »2& »402] 4,800
307 lztol & 1,500,000 3,000,000 1,500,000
05 2IMRIE =3 1,500,000 3,000,000 1,500,000
NENMTOIEAA 2H & RFH X
0,000,000 *57H 2 1,500,000
401 AIZHIX S0HH 200,000 100,000 100,000
01 AlZH| 200,000 100,000 100,000
DEMTIILEA ALS BHTA
100,000, 0002 *2IH 2 200,000
ellEl HAI & 15,432 13,880 1,562
Ell=PONEE] 15,432 13,880 1,552
201 Ler23 | 9,432 8,880 552
01 At2t2lt] 9,432 8,880 552
NElEIAE g2 =8 AREE 7Y
50,000& * 122 600
NElEI Y2 =X 0HAHI
8,000 x1&+543] 432
NS S5 Ml 100& 60,0005 6,000
NASK LAEST HOIHM2lH
600,000& 42 2,400
202 04l 6.000 5,000 1,000
01 =LHAHI 6,000 5,000 1,000
NEEE P2 =& U
60,0008 x2& *503] 6,000
TEEEANAHEZS 717,936 451,900 266,036
SAAE 717,936 451,900 266,036
SAIAE 58,936 51,900 7,036
201 er23| 39,736 38,900 836
01 At2teltl 17,736 16,900 836




SN ATHASO LA Xl 2t
M I AAHE=ZS
Sl TAIAE (CHel: &2l
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
NTAHE J2EF AREE 79
70,0002+ 128 840
NEAIHEIH o124 & SHET K=
6,000& *1002 600
NEZAIAE PRFE A
8,000 38 543 1,296
NEZAIAEARS =& & 29|
150,0002 * 102 %102 15,000
2 55234l 22,000 22,000 0
NZAAEEHMA st & HHl |Al2el
22,000,000 22,000
202 04| 19,200 13,000 6,200
01 SLHo4H 19,200 13,000 6.200
NEAINE HRFX AL
60,000&1%32 x03] 16,200
NEAHE L2EF ZLE 20|
60,0002 x1&*502] 3,000
2030 Aok 242 A= (THEH) 28 (HE) 89S 659,000 400,000 259,000
401 AIZHIX 20 659,000 400,000 259,000
01 AlZ8| 659,000 400,000 259,000
1)20304 &loh P22 HE (HEH]) Z2E(BE)
=g 89 555,000,000 565,000
1)2030& Alob 2242 & (JHEHI) 28 (83)
defet gyt E4 67,000,000& 67,000
1)2030& Alob 22| H & (JHEHl) 28(83)
ML BE =9 37,000,000& 37,000
AH 2SS ZHI (A THAOH LA X ) 13,200 14,700 1,500
Jl=3H| 13,200 14,700 21,500
Jl=23H] 13,200 14,700 21,500
201 Zet=E] 1,920 2,100 A180
01 At2teltl 1,920 2,100 A180
NREA2S AtR22l| 120,000 x16& 1,920
202 04t 7,680 7,200 480
01 =LHo1H| 7,680 7,200 480
EA2Y 200 60, 00024142 +83] 6,720
2L ALET 20l
60,0003 x2& +83] 960
203 HR=H] 3,600 5,400 A1,800
M EAEZER=A 3,600 5,400 1,800
1)2021015t 300,000 %12 3,600




